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1	 A trapezium is divided into 3 equilateral triangles, 1 black and 2 white.

	 The trapezium has a side length of 20 cm as shown.

20 cm

	 The trapeziums are lined up to make chain patterns.

30 cm

Pattern 1

40 cm

Pattern 2

50 cm

Pattern 3

	 (a)	 Complete the table for the missing length for 10 trapeziums.

Number of trapeziums 1 2 3 4 ........ 10

Length of chain (cm) 20 30 40 50 ........

[2]

	 (b)	 Complete the table for the missing number of white triangles when the pattern 
number is 10

Pattern number 1 2 3 ........ 10

Number of white triangles 4 6 8 ........

[1]
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2

£3.50

500 g

£1.50

200 g

£6.50

900 g

	 Raisins are sold in three different sizes of tubs.

	 Which is the best value for money?

	 You must show your working.

Answer _________________ [4]
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3	 Bob changed £35 into euro.

	 Bev changed £42 into euro.

	 The exchange rate was £1 = 1.06 euro.

	 How many more euro did Bev get than Bob?

Answer _____________ euro [3]
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4	 (a)	 A roll of wallpaper has a width of 53 cm, measured to the nearest centimetre.

		  What is the maximum width of this roll of wallpaper?

Answer _____________ cm [1]

	 (b)	 A television has a screen width of 88.6 cm, measured to one decimal place.

		  What is the minimum screen width of this television?

Answer _____________ cm [1]
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5	 One Saturday, 460 people visited the museum.

	 180 were children of which 35 were girls.

	 280 were adults and the ratio of men to women was 4:3

	 Paul says that, altogether, more males than 	females visited the museum that Saturday.

	 Is he correct?

	 Show all your working.

Answer _____________ [4]
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6 127°

111°

w

136°

95°

diagram
not
drawn
accurately

	 Work out the size of the angle w in the pentagon drawn above.

Answer w = _____________° [3]
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7	 A company makes memory chips.

	 The probability that one of these memory chips is faulty is 0.025

	 The company makes 1800 memory chips each hour.

	 Work out an estimate for the number of memory chips made per hour that will not  
be faulty.

Answer _____________ [3]
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8	 (a)	 Draw the graph of    y = 5 – x2

		  Use the table below to help you.

x –3 –2 –1 0 1 2 3

y – 4 4

y

x

1

0

3

4

5

6

2

– 3 – 1 1 3 4 5 6– 4– 5– 6 – 2 2

– 2

– 3

– 4

– 5

– 6

– 1

[3]
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	 (b)	 Use the graph of y = 5 – x2 to solve the equation    5 – x2 = –2 

Answer  x = _________  or  x = _________ [1]

9	 (a)	 Simplify

		  (i)	 12 x5 ÷ 3 x3

Answer _________________ [2]

		  (ii)	 (x3)4

Answer _________________ [1]

	 (b)	 Eva wants to find the nth term of this sequence.

1, 5 , 9, 13, 17 . . .

		  She knows that it starts with 4n

		  Complete the nth term for this sequence.

Answer  4n             [1]
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10	 (a)	 Work out the size of an exterior angle of a 24-sided regular polygon.

Answer _____________° [2]

	 (b)	 The sum of the interior angles of a regular polygon is 1800°

		  Work out how many sides this polygon has.

Answer _____________ [2]
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11	 On the grid, draw the enlargement of the quadrilateral using a scale factor of 13 
	 and centre (−2, −1).

y

x0

2

4

6

8

10

2 4 6 8 10 12– 2– 4

– 2

– 4
[3]
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12	 Gina made a model of a pyramid. 

	 The model has a height of 5.4 cm and a volume of 300 cm3

	 She now plans to make a similar pyramid, four times as large, with a height  
of 21.6 cm.

	 What will the volume of this new pyramid be?

Answer _____________ cm3 [2]

13	 Rob plans to travel to Australia by air.

	 His choice of destinations in Australia are Adelaide, Brisbane, Melbourne, Perth  
and Sydney.

	 He plans to make just one stop on his journey to Australia.

	 For each of these, he can choose to stop in Singapore, Hong Kong, Bangkok or Dubai.

	 How many different choices does he have for flying to Australia?

Answer _________ [2]
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14	 (a)	 The probability that it will snow in Enniskillen on Christmas Day in any year  
is 0.09

		  The probability that it will snow in Tokyo on Christmas Day in any year is 0.11

		  Work out the probability that it will snow in Enniskillen and in Tokyo on 
Christmas Day 2021

Answer _____________ [2]

	 (b)	 A survey of patients in a GP surgery found that  
 
9% were seen within 5 minutes of their appointed time,  
 
63% had to wait between 5 and 10 minutes and  
 
28% had to wait longer than 10 minutes.

		  Work out the probability that a patient chosen at random was seen within 10 
minutes of their appointed time.

Answer _____________ [2]
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15	 T varies as the square of d

	 When d = 0.3, T = 10.8

	 (a)	 Express T in terms of d

Answer _______________________________ [3]

	 (b)	 Find a value of d for which T = 30

Answer _____________ [2]

THIS IS THE END OF THE QUESTION PAPER
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